
Note: the best way to study for the tests is to:

· Start by reading the lecture notes twice 
· Then, leave the notes aside and answer the questions (I do not value answers that are transcriptions of the lecture notes).
 If you do this, you’ll have to study much less before for the exam.

Reserve some hours (perhaps 4) every week to answer the questions. 
The answers should be handed at the next lecture. They should be manuscript (not typewritten) and preferably based on schemes. Keep a copy for yourself.

Please write WEEK 10 in bold at the beginning of your answers.

Week 10: Ch 10: Replacement of MP by FP
1st part of the lecture

1.a) Explain the four elements of the alternative policy architecture.

1.b) Why does investment demand require very little funding?

1.c) “An increase in saving leads to an increase in investment”. Do you agree? Explain.

In the following questions, consider the circular flow of expenditure-output-income presented in the lecture, with two differences: an initial level of investment of 25€ and a saving rate of 0.25. (Initially C + I = AD = 100€, corresponding to E0).

2 a) What would have been the effect of a decline of investment from 25€ to 20€ on the levels of output, income, consumption and saving had it not been for the Japanese government’s full-employment policy? Explain.

b) In this case, what determines the amount of saving? Explain.

c) Explain why S > I leads to a decline in AD month after month.

d) Between E0 and E1, income falls month after month. What is the mechanism behind this?
3. The Japanese government injected 5€ of expenditure. Comparing with the previous case:

a) What was the effect on output, income and consumption? Explain.

b) What was the effect on saving? Explain.

c) Was the effect on the public debt equal, bigger or smaller than the effect on the stock of private savings? Explain.

4. Under the policy framework in which MP is replaced by FP:

a) What does the government do to fund a deficit?

b) In which case will private savers choose to fund the government?

c) Would private investors ever buy bonds which offer no real return? Explain.

5. a) What is the effect of an (unexpected) increase in CB interest rates on the supply of long term government bonds in the secondary market?

b) Why do long-term bonds currently carry a market risk?
6. Under the policy framework in which MP is replaced by FP, what is the effect of a sudden increase in the supply of long-term government bonds in the secondary market on the price of those bonds? Explain.

7. Under the alternative policy framework, would long-term government bonds imply:

a) Market risk? Explain.
b) Default risk? Explain.

2nd part of the lecture

8. a) How has Japan kept the economy near full-employment over the past 25 years? Explain using the circular flow of expenditure-output-income.
b) What was the effect on the debt-to-GDP ratio?

c) Could have this led to a high tax rates under the standard policy architecture? Explain.
d) The same question under the alternative policy architecture.

9.  If the debt-GDP ratio rises to very high levels, savers may initiate massive sales of B10 in the secondary market.

a) Why?

b) “Under the current policy architecture, the result may be a default.” Do you agree? Explain.

10. If the debt-GDP ratio rises to very high levels and, as a result, savers may initiate massive sales of B10 in the secondary market.

a) What will happen under the alternative policy architecture? Present the operations between the parties involved.

b) What will be the effect of the sell-off of B10 on their prices and interest rates?

c) What will be result on the stock of existing B10, the quantity of money in circulation and the quantity of bank reserves?
11. If the debt-GDP ratio rises to very high levels, savers may refuse to buy new bonds issued by the government to redeem its old bonds.
a) What will be the effect under the standard policy architecture? Explain.

b) What will be the effects under the alternative policy architecture? Present the operations between the parties involved.

c) What will be the result on the stock of existing B10, the quantity of money in circulation and the quantity of bank reserves?

12. If the debt-GDP ratio rises to very high levels, savers may refuse to buy new bonds issued by the government to fund a new deficit.
a) What will be the effect under the standard policy architecture? Explain.

b) What will be the effects under the alternative policy architecture? Present the operations between the parties involved.

c) What will be the final result on the stock of existing B10, the quantity of money in circulation and the quantity of bank reserves?

13. If the debt-GDP ratio rises to very high levels, savers may (1) initiate massive sales of B10 in the secondary market, may refuse to buy new bonds issued by the government to (2) redeem its old bonds and (3) to fund a new deficit:
a) What will happen to the stock of existing B10 and to the quantity of money in circulation? Explain.

b) What will happen to the quantity of bank reserves? Explain.

c) Banks will be left with excess reserves. Why?
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